Sub Toleranzen_2()
Dim Toleranzen()
Dim |, K, Anzahl_Masse As Integer
Dim Zeichnung As DrawingDocument
Set Zeichnung = ThisApplication.ActiveDocument
MsgBox "Anzahl Mal3e in der Zeichnung: " &
Zeichnung.Sheets(1).DrawingDimensions.Count
Anzahl_Masse =0
For 1 =1 To Zeichnung.Sheets(1).DrawingDimensions.Count
MsgBox Zeichnung.Sheets(1).DrawingDimensions(l). Tolerance.ShaftTolerance &
Chr(13) & Zeichnung.Sheets(1).DrawingDimensions(l).Tolerance.HoleTolerance _
& Chr(13) & "oberes Abmal3: " &
Zeichnung.Sheets(1).DrawingDimensions(l). Tolerance.Upper _
& Chr(13) & "unteres Abmal3: " &
Zeichnung.Sheets(1).DrawingDimensions(l). Tolerance.Lower
'‘MsgBox Zeichnung.Sheets(1).DrawingDimensions(l).Tolerance.ToleranceType
Next |
‘Call
SetToFits(Zeichnung.Sheets(1).DrawingDimensions(1).Tolerance.ToleranceType,
"N/V", "h7")
'Zeichnung.Sheets(1).DrawingDimensions(1).Tolerance.SetToFits(kLimitsFitsShowSi
zeTolerance,"N/V","js6")
'Zeichnung.Sheets(1).DrawingDimensions(1).Tolerance.SetToFits =
(kLimitsFitsShowSizeTolerance) ',"N/V","h7")
'SetToFits(kLimitsFitsShowSizeTolerance, "N/V", "js6")

End Sub

AA (1:1)

)

Autodesk Inventor 11 5 ]

-001
003

das g6 (-0

70,03 )

@70 HT (TD

H7
oberes Abmaid; O
Linteres Abmas: 0

|

i

|

|

|

|

|

|
@50 HT

L

(T

@55g13
i

100




